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Q1l:- A9 Afaadi Hr AAT MY B3 T G| TR SADI AP 2:3:3 @
U § B, A S | |9 q¢ N oY fHan o Srfi?
(1). 22 (2). 33 (3). 44 (4). SifpS R &
(6) T | BIg &

Solution:-




Q2:- df 3R 9 P SH &1 U 7 : 3 § IR 37 S BT AT 60 A
2, o S99 Sul @ 99 fHa=r =R &
(1) 42 911 (2) 24 91 (3) 18 HTt (4) 30 9Tt

Solution:-




Q 3:- dfe®r R T FT A ARG BT FUE 45 8| IR 9 915 o9
ST@! Y BT AT 80 Y BRI, S9! AY ¥ FAT JUTd BIT?
(1)8:9 ) 9:11 (3) U WA W (4) 3PS R
(6) T § PIg T

Solution:-




Q 4:- 6 Il Ugt HHET AT G DY IATY HT U 6 : 5 AT| 4 A 91K
AT 11 : 10 B SITQT & A GRIA Bt TAA SH 4T 87
(12099 () 1898 (3) 163§ (@)2dad  (5)57H & HIg &l

Solution:-




Q5:- A 3R B 9 ad¥E g &1 AT 110 a§ 81 20 I UEA S
3R] T U 4:3 o1, f A & oy af # = Brfi?
(1) 60 (2) 55 (3) 50 (4) 35 (5) 3% 9§ Pig -TEl

Solution:-




Q6:- 10 9T Ugt B o S5 C o1 S¥ & 10 T off, If} o5& acd@= sw
T U 41 8, @ B o1 acwr su 8-
(1) 10 arad  (2) 40 |1 (3) 60T (4) 80w (5) S9H | BIF B
Solution:-




Q7:- v¥ & T & Y IH B A B 4 [ | O 99 g S far
DAY Y D I GG D (Y | 9 TN ol | IH B A Ay
ST PR
@) 1454 (BMogd (@) 12af (557 & P el

Solution:-




Q 8:- T & Y Y3 A Y & 9 A | 3 99 3% 8| N7 99 918
T o Y T3 B Y D T | 10 99 S BRfY | ST A=
3Ty 91T —

(1) 33 99 3R 10 9§ (2) 9 af ik 30 anf
(3) 15 99 3R 48 T§ (4) 20 99 48 9
(6) T | BIg &

Solution:-




Q9:-dF, fegr A,B td C U9 UR # HHI: 34000, 26000 3iR
10000 HIGT BT GOl T & | T[T @9 17500 Fo # A A FT I §-

(1) 8750 wo (2) 8500 wo (3) 7500 wo (4) 3750%0

Solution:-




Q 10:- IO, GBI T AT 350 Fo § [P WWE & fory fodiiofo AreT
WR AR | 9 AT HA: 6 T, T 12 Hel SHST YANT &-d &, o
qarsil farer 31 fHam wrer <A1 U= ?

(1) 75 Wo (2) 125 o (3) 35 Wo (4) 150 Wo (5) TTH W ®Ig &l

Solution:-




Q11:- A 3R B %% 12000 3R 16000 ®UAT W Joit fawr o To
YR IARA HA 8 | 36 FE1 & 91§ 15000 Ho & Yol @ |y C
T AR ¥ WA 8 orar 8, df C & fasasr amirer frem?

(1) 6000%o (2) 12000%0 (3) 18900%0 (4) 22000%0

Solution:-




Q12:- ABon C¥z: 2 < @ I ¥ §off o | A e A

gt e Goit Tt off | T[T 8470 Wo @ A & § A T WTT
ERIT—
(1) 2400%0 (2)5100%0 (3) 2800%o (4) 2400%0

(6) T W I3 Tl

Solution:-




Q13:- 9% H 50,000 HIAT TMHR TP AR AR fHIT| IR 918 915
FfY SHD I ST &) &9 PR INASA B A7 I 3R §
UH 5 N IT| 99 & T § IO IR EW & €9 ™ D71 faaor
&9 srqua # s AfEe?

M1:1 (@2:1 (B)2:3 (@3:2 (5)379 | BIY T8

Solution:-




Q14:- AR B A fiaar 919 § (& <R URH faar | s Ioit &
U 3 : 5 AT| A 99 & 3T H FoT 2400 Fo A goml, o B
o B ¥ f&Haer afde frem?

(1)900%0 (2)600%0 (3)415%0 (4)400%0
(6) T W BIg TE

Solution:-




Q15:-WﬁAW%WTB$1%W$r%%|B4000015owﬁ
IR 1200947 BT AT AT, T A & & T faer &1 srgara
qaren |
(1)100:3 (2)3:100 (B)3:10 (@)2:1 (5) T8 | BIg B

Solution:-




